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TO THE EDUCATOR

It is not the point of this manual to compensate for 12 years of formal education by imparting to the student various
concepts and theories of English and Math but rather to acquaint the student with the knowledge he already possesses.
For example, the student might not recognize subject-verb disagreement by title but he can discern a grammatical
inconsistency by ear — it just doesn’t sound quite right — he only needs to be told WHY.

It is believed the adult student is approaching learning from a different perspective in that he is not learning NEW
material but previously introduced material that he is now ready, even anxious, to digest. Drawing on his current
environment, ideas are reintroduced in a comprehensible manner simply because they are useful to the learner in everyday
situations. Many of those hazy, vague concepts from days gone-by can be crystallized and directed into concrete prin- .
ciples to be utilized today. The small pieces of missing data that complete the picture for the student can at last be
inserted because the formerly absent catalyst, MOTIVATION, is at hand. The adult learner is again asking “WHY"’,
seeking knowledge for the earnest desire of it, as he once did as a child.

To THE StudENT

Wercome To wHAT I HOPE wIn, BE AN ENJIOYABLE LERRNING
EXRPERIENCE FOR YOU. .. Qo NOT BE FOOLEQ BY THE DRAWINGS, THIS
IS SERIOUS sturr ¢ It 15 HOPED THAT YOU WILL FIND YOUR TRAVELS
THROUGH THIS BOOR TO BE ENTERTAINING AS WEL. AS INFORMATIVE.

No AITEMPT HRS BEEN MAQE To cover AL THE GED TEST
INFORMATION (WHICH WOULON'T BE IN PUBLIC MANDS ANYWAY) BUT
THERE ARE PLENTY OF IDERS THRT ARE ON THE GED AND 1+ YOU GET 0
MANY OF THEM RIGNT, you'tL PRSS WITH LOTO OF RREATHING RoOM
AFTERRW., NO MATTER WHRAT STRTE YOURE FROM, WITH THEIR VARYING
RULES, YoU STIL. ONLY NAVE To GET ABOUT Y2, (ONE OUT OF TwWo)
QUESTIONS RIGHT TO PASS, You CAN o ™ATIY

Qo PRACTICE TARING TESTS IO YOU AREN'T SURPRISED (HORRIFIED?)
WHEN YOU FIRST ENCOUNTER THE GED. THE mosT EXCELENT AND
UPDATED SMALL BOOKLET T'VE SEEN TS AUATLRBLE AT VERY LW
cost FRom: The GED INSTITUTE , G STREET NW, WATERVIWE, WA 98853,
(cAWED THE GED HANDBOOK)

THE NEXT IMPORTANT THING YOU CAN RO I3 READ A LOT.

READ ANYTNING YOU LIRE , JUIT GET UGED 10 RERDINGS AND
REMEMRER TNE TEST I PROBALY NOT AF MARD A3 YOU THINK §



T
N
K

o

%% 1 LOVE

3 GRANMINER
D :%}: (1 don't think 3t

+he same one)

‘ (e
(,gﬁﬁ WARD 16" L NGrLisH E?gége
4, ;

iz,
AN e

f@@f: Excust Mg, ., ‘
@ 7 Ler I'm, en,
/" net real Tqieresfed n

thfs vh, er, Topie

SPELLING



I/ \ V) \! “ ’
STUPLD ALIAS “DUMB' Vs, “MIssING In FORMATION

I FEEL CONFIDENT TMAT MOST PEOPLE DO NOT GIVE A
"WRONG" ANSWER ON PURFPOSE. "WRONG * ANSWERS ARE

NOT REWRARDED IN OUR SOCIETY WITH THUNDEROUS APPLAVSE;, CONSEQUENTLY
IT IS TMOGICAL TO RSSUME A PERSON WOLLD MAKRE SUeH A RESPONSE IF
HE HAD ALL THE INFORMATION. 1 BELIEVE STUDENTS WHO DO NOT

e1Ve THE RIGHT" ANSWER ARE MERELY MISSING INFORMATION THAT

p— ——
—— —

WOULD ALLOW THEM TO GIVE A_CORREQYT RESPONSE. THIS GCeURS
ON A REGULAR BASIS WITH CHILOREN,WHERE IT IS LABELED "COTE"
RPTHER THAN “STURIO A TODDLER SEES A_FURRY LITTLE ANIMAL...
OTHER SAYS “RITTYY TMEN A FLUFFY 006 WALKS By ANO TNE QHILW)
ORYs “RITHYY GIGGLES AND "ON ISN'T THAT PRECIOUS W RESOUNO
FROM_[|OTHER A SNE PROVIDES THE CHILD WITN MORE INFORMATION
TD RESFOND CORRECTLY. |
_SOMEWHERE BETWEEN CHILONOOD AND ADULTHOOQ THLS CONCEFT
OF MISSING INFORMATION" BECOMES “DUMBT AN ADULT (OR REOLESCENT)
IS CONSIOERED TO BE MISSING SOME INTELLECTUAL FUNCTION. WNAT
IS EVEN WORSE THRN OTHERS LARELING US DEFIQIENT; WE BRUTALIZE
OUR OWN ABLLITY WHEN WE ARE MEREL MIISING INFORIMATION.
WE MUST TEACN OURSELVES TO SARY THAT WE ARE JUST MISSING
INFORIV| ATION WHNEN WE GLVE AN INCORRERT RESPONSE. WE ARE
NOT STUPID, DUMB, or MENTALLY DEFICIENT
Ir T GET INTO A cAR BEFORE SOMEONE TEACNES ME TO DRIVE
ANO I HaT A TREE , T AM NOT STUPID , I JUST DO NOT HAVE ENOUGH
INFORMATION; I NAVE NOT BEEN TAYSNT HOW TO ORIve. BoT, I can
LEARN TO DRTVE S AND SO IT IS WITH ACROEMIC MATERIALS, YOU
CAN LEARN WHFT YOU NEED TO KNOW. Yoo wIW BE SURRIED WITH
MISSING INFORMATION" AND Yoo CAN LEARN It 28¢

Te=2 opp ...

LeTs Goll
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[ETS LOOR oVEp somE ENGLISH IOEAS « o
Magy, Joun Auo JaNe Is ALVE AND WELL . *E = WHAT Is WRONG ?

NoTICE THREE PEOPLE ARE LISTED h% ® c - TH{iT IS nQ'oP\E THAN
SN IANE RE Ue RIGNT ONE

omag% SO THE VERB @Q SNOULD.
3 TO (o} RE THAN ONE , MARY, TOMN , AND TANE
oW TO USE FOR mo T v\@ ARE ALIVE AND WELL.

CORR T

)
{ @@ ({==~fou CAN PROBARLY HERR SUBTECT ~VERD AGREEMENT (or 1F
AN\ THETMAIN THING IN THE SENTENCE IS MORE TNAN ONE OR
JUST ONE THE VERR MUST AGREE IN NUMRER AS ONE, OR MORE THAN oN

EXAMPLES ¢ HE 15 SWEW . (ONE PERSON,HE ; IS SINGULR VERB)
THEY ARE SWELL, (morE THAN ONE, THEY j ARE PLURRL VERS)
HE RUNS QUICKLY. (ONE PERSON, HE 9 RUNS SINGULAR VERR)
THEY RUN QuICKLY. (MORE THAN ONE,THEY; RUN PLURAL VERG)

(HINT: LOTS OF SINGULAR VERBS END IN “s"2 IS, RUNS, RERDS

TEW WHMETHER TNE FOLLOWING ARE CORRECT s

1) He purys RAgERALL. D okey |
2) JHEL PLRYS BASEBALL. 2) SNOULD BE PLAY
8) T RopN THE DAY WHEN IT RAINS. 3.) SMOULD BE RUINS
M) SeIssors Is SHARP, 4,) SHOULD BE ARE.
| 5)SnouLd BE 15.(No onE )

5) No onE ARE SAFE.

A GUICK OTHER REFRESWERS USE TDO WHEN IT MEANS ASO OR R LO.

"\, TO IS A_CONNECTOR OR "GOING SOMERLACE WORD'
il 1) Tt s TOO MoOT. (A WOm)

: 2) Brang Jane 1007 (Fe20)
3)TWENT T0 THE STORE.  (GQING SOMEWHERE)

i &
:g —
@ Wow ! WE ALREADY COVERED TWO INEAS ON JUST THIS ONE

EENY PRGE |

=

Eck CAREFULLY FOR THE VERS (ASTION WORD) TO
4 MAKE SURE IT IS THE RIGHT ONE FOR THE NUMBER

h IN THE SUBTECT (OR “MAIN PERSON, PLACE,OR THING)
2)



ﬁj&l@ THE GED TESTe.. Xz
DM, oo MAYRE THIS ISN'T A GOO0 IDER e
C/D Wew LeTs SEE QR

N4

. Do vou HAVE f GED NOW ¢ ligf

2.TF You PASS, WL You NAVE A GED? YESS
Ir GEDZ Np ¢

3.IF You D0 NOT PASS, WILL YOU HAVE A £ NQ .

4 Is THE ANSWER TO NUMBER 3 ANY_OLFFERENT
THAN THE ANSWER TO NUMBER | ¢ No ¢

8. SINCE THE ANSWER TO NUI‘YLBER | IS NO DIFFERENT
THAN YOUR ANSWER TO NUMRER 3 COULD YOU POSSIBY

\\\WU/// RE ANY WORSE OFF FOR TRYING 3 NO¢ NOING!

T THE ABSOLUTE WORST THAT CAN HAPPEN IS THAT You
WON'T MAVE A GED THAT You QON'T HAVE NOW RNYWRY —

BT

055 0
THE @E\S\ ggqgor prgr s You CAN eeT A GED 99
s 000

\}OU CAN Do 7 Y

You cAN po Iré/
QAN ¥ RAyY RAHE

; I’r{’nsm !
L\Egé 70
@ 11

: R
VERR ENDINGS GENERALY SHOUWD BE THE SAME ON AW- VERBS IN
ONE JENTENCE.
ExAMPLES € L AM RUNNING ,JUMPING , PLAYING.
NOT I AM RUNNING, JUMPED, PLAY.

3)



(e
MARY LOOKS PRETTY RND SMELLING NICE. BLEEP)P

_ @ Owvg
LET'S SEE... HOW ABOUT 2 IVIARY LOOKS PRETTY AND SMEWS NICE. * off4°

OkAY Y
Anomer Eneuasy BIGGEE ...

YOU DON'T NOT NEVER PUT NONE ToO MANY NO WORDS IN NO SENTENCES
YOUWRITE, As A MATTER OF FAQT, YOU SHOULD oNW HAVE ONE No woRo.
NO WORDS S NOT, NONE, NEVER, THE CONTRARTION N'T, NO
EXAMPLES 2 <
_ VES, YES 5 ,{,}9 NO,NO
1 HRVE NO MONEY. L QonN'T GoT NO MONEY
1 HRVEN'T ANY FRIENDS. 1 NEVER HAVE mg FRIENDS

o NEXT & HOW ABOULT THIS g
NEITNER 60ES WITH NOR

EITMER GOES WITH OR_

EXAMPLES ¢ EITHER HE GOES QR I 6O,
NEITHER JOHN NOR JUDY KNEW THE ANSWER.

A Now LET'S CONSIDER VERS TENSE CNLCFLNING Is IT
HEPPENING NOW', IN THE FUTURE ,OR YESTERSRY) YOU SNOULON'T
swlrcn BAQI F\\_\\O FORTH IN SENTENCES $
He pp&N AND wﬁ;\(s UeH? SHoulp BE: HE RAN AND WHLKED.
ALREBDY ALREADY
0ID AID

HE RUNS AND wfws,

E
N

Torne  TDoane
ME WIL 60 AND DONE IT, ueH! SHoYLO BES He wIlL 60 AND WL 00 IT.

~ T 0
FUTURE ALRERDY FUTURE FUTURE
ACTION OID ACTION ACTION

THEY WENT 7O THE STORE  WGH! SHOULOBE? TNEY WENT To THE STORE

AND BOY IT. AND BOUBHT IT,
ARERRY EADY
0ID PRESENT AiEs ALRERDY

“INEY G0 TO THE STORE AND Bf\/ I,
PRESENT PRESENT



WouLD VYou BELTEVE, COULD YOU POSSIBLY KNOW, ISN'T IT WONDERFUL , CAN

YOU CONCEIVE OF THE IDEA ... ONLY ONE MORE MATOR GRAMMATICAL

TOEA, YES JUST ONE (1) MORE IDEA , ONE MORE TOPIC ..o IT ISS
BEING 700 WORDY

SomE MORE COMIMON EXAN|PLES,

I Lrre, AM VERY FOND OF, FEEL FAVORABLY TOWARD
CHOCOLATE.  BETTER® I LIRE CHOCOLATE.
YESTERDAY , OR WAS IT THE DY BEFORE, NoO IT
WAS YESTERDAY , I WENT BOATING.
RETTER® YesterDAy 1 WENT BORTING.
FRANRLY, QULTE HONESTLY, TO TELL THE TRUTH I DON'T
LTkE HER. BETTER® Frenkwy, I Don't LIRE HER,

o LeTs sum UP THE MAIN GRAMMAR IOEASS
| . NUMBERS OF SUBTECLT & VERD REPRESENTATION SHOULD AGRER.
2. T0' FOR GOING SEMEWNERE § 100 FOR RSO OR A LOT
3. VERBS SHOULD AGREE WITH EACH OTHER IN SENTENCES
. Oy ONE NO WORD PER SENTENCE
S. THE “TENSES' (WHEN THE ACTION IS TARING PLACE) SNOULD
AGREE WITH EAGN OTMER.

- CORRELT EXAMPLES 8
l HE1s walL. Tuey ARE WELL
2. T Am GOING TO_THE STORE.

IT IS TOO BAD.
31 AM, SINGING, SEWING, AND COORING.
4, I HeveN'T HERRD A WORD YOU'VE SATD,
& I A 60ING SNOPRING ANO I Am

8UYING CANDY,
G. It s  BOOD IOEM TO STATE THINGS

]\ 61!!‘1'\31:/.

THESE NUMBERS SHOW EXAMPLES OF THE
SAME NUMBERED ONES DIRECTLY ARBOVE.




you
1F ;'( DO \\'\‘

Cﬁ-“sﬁ 00 E,\, 0 T THOUGHNT
A WE ot ) DURe < ic” WERE
e MLt PROB r'l‘:ng._y.,,,

TOENTIFY THE PROBLEM IN EACN SENTENCE

| You CAN'T IN NO WARY TRY TOO MANY NEW 6s. ) CONTAINS TWwo
CAN'T IN NO WRY TRY TOO MANY NEW THINGS ) CONTEINS T
CAN'T AND NO.
2. L LIKE T0 TRY NEW THINGS FOR THE REASON THAT 2.) WoRDY

SIMPLY STATED LTRE IT MARES LIFE MMORE
INTERESTING IF YOU KNOW WHAT L mERN.

3.) VERB ENDINGS

3. YESTEROAY T WENT BIKING,SWIMMING AND RUN. RS AmE
Y, Mpry 15 SWEET BUT HER SISTERS Is mERN. 4) SISTERS Is MORE

THAN ONE So
NEED TO USE ARE

WITH IT.
5. You cAN'T RERD TO MUCH, 5.) o MEANS A LoT~
i | =0 oM SouLD b 'rgg_
@. 10 | = G.) LEARNEQ MEANS IT
Ofy I AM IMPROVING MY CONCEPT OF MYSELF s LR, THE PACT &
BY LEARNED SOMETHING NEW. AN LMPROVING IS

PRESENT, THEY SHOULW
BE THE SAME.

e Nnext EXCITING

TOPIC I3 (ARE YoU REARDY

FOR THIS® ) 'DUNQTUATION ?

J0ME OF You, 1 RNOW, HAVE BRRELY
BEEN ABLE TO CONTAIN YOURSELVES IN
ANTIRIPATION OF THIS FAVORITE ENGLISH sEetzoN

o
IRST
QUOTATION MARKS & CARITALSS ). John saldn" Cor 1.

S are swe

2. "Cars are swe_l@" .za?d Jc;m.
no CDF

" [\ ° o )
8. "Corsh said Johnn‘are swell!
= ED © Cro copltal ,




EXPLANATIONSt #1. John said, “Cars are swell .’
® Commas before startin qqure, to set M aport.
® Copitaltze {irst word o quote.
¥2. "Cars are swell,” sald John.
® Capitaltze first werd of guote.
® Comma. after gquote to set T apart.

(sa%d not cqp‘i-}al?aeé becavse $ts an ord?nar5
word after a quete)

® Copttalize first word of quote ~CARS, are s
not capttalfzed becavse ™ s a continuation
of the guote sentence,not the first wors.

® Comma ‘after f?rs% part of qoo{c and before
second part 1o set qqure aParf.

OTNER TID-BITS:

® Names oF SPECIFIC PLACES ARE
CAPITALI2ED — LIRE: NORTHWEST
Communzrs Coukse, BUT I THE
WORD "COLLEGE" APPERRED BY ITSELE
IT WoulON'T BE. ,

@ Directions aren't capttalized (nerth, south, east, west)

~ Unless Tts a SPECIEIC name,

SPE_SI‘FIQ s THE REY @S0 | 1ee DR MirewaeLT. BRORENBONE

AND MICHAEL IS A DOCTOR
. NO CARITAL.

CAPLTALIZE AND PUNQTUFTE THESE FEWS

© o ANG GET SOME MIWR Jon DEMANCED ) "G, e TouN
) DEMANDED.

() 1F ou WRNT TD BE TRULY SUCCESSFUL IRRY 2, "IF. . . SUCCESSFUL,” M ARY

COMMENTED THEN COMPETE ONLY WITH YOURSELR COMMENTED, “THEN. .
YOURSELF,
@) FReD REPLIED YOU HAVE DONE AN EXCELLENT 3. Frep RepLtep,” You. ..
]
PIECE OF WRITING, WRITING.”
7) @ I 11VE ON THE S6UTM SIDE OF THE STREET, IT 4. ONY enPITALS ¢

TS VINEYARD AVENUE, Vanyaro AveNuE



Now You ern REST FOR § MINUTE WHILE WE
CONSIDER P@OTHER TORIC. . -
A_HORRIBLE qND OREADED TOPIC. ..
IT PUTS FERR INTO THE'HEARRTS OF MEN-. .

L TALLURE 98

T THINR WE SHOULD RENAME IT. HOW ABOUT INSTERD OF SCREAM)
SRIING, L FAILED USE ONEOf THESE ALTERNATLVESS
N I HAD AN OUTCOME IN MY MIND BUT A TWIST IN THIS
STORY WAS A SURPRISE ENOINGS
2) 1 1Heu6HT I WOULD BE COMPLETEQ TODRY BUT IT WIL.
TARE LONGER.
3) T 010 WEL- FOR THE INFORMATION I Heg, Now I must AQD
SOME MORE, _
Puekse sTRIE THE WORD FAILURE FROM YouR vocaBuLtARY. L REMEMBER,
AN EXRPLE OF SOME RESERRCNERS GOING TO A_GREART SCIENTIST AND
SEIING,'WE HAVE FATLEQ, WE TRIED IT SO0 DIFFERENT WAYS WITH NO
SUCCESS! THe GREAT SCIENTIST REPLIED, YoU HAYE NOT FAILED, You |
NOW RNOW JOO THENGS THAT DON'T WORK." LET 0§ PEVELOP THAT fg‘rmmsoo
LET US NOT "BERT-UP" OURSELVES SRYING, “I'm No 600D, I'm A FAILURE,
T NEVER po ANYTMING." LET us INSTERD oAy, “AwRIeHT? I'm mARING
PROGRESS, I'm LEARNING, I'm MoVING FORWARD, I'm DOING SOMETHING,

I'm NG " -
. [#) WHRT TF A_ BARY TRIED TO TARE #_DTEP, FEL OVER, THEN
J }7 SAT BACR ROWN AND THOUGNT, “WEW, I'm A FLoR, I'u NEVER
;,t,ﬂd\g TRI THAT AGHINY " NONE OF Us WOULD BE WALKING, THATS A
canehd A BAGY LERRNS SO MUCH IN THE FIRST FEW YEARS
BECAUSE TIT IS NOT AFRATO TO TRY ..o IT FOCUSES ON WHAT IT WANTS TO
ACCOMBLISH NOT on WHAT OTHERS MIGNT THINK AROUT ITS ROUTE TO
ARRINE AT THE GOAL. THINK AROUT, FOCLS ON,ETCH OEEPY IN YOUR MIND
VOUR ©ORLS ANO THINR ON THEM, NOT ON WHAT MIGHT HAPREN ON THE
WAY THERE. THINK AROUT THE GOAL ANO DIscARD NEGATIVE
THOUBHTS THAT CREER TN

OKAY, ALRIGMT ¢ I'm eone To ee1 my G

m
O
0
Q

l)

s
pa—_

8)
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20 What makes up a

[ ARP\GQP\PHS" % '5“( .' ﬂOOd POYO.ﬁra_Ph_Z

A A 4op! tence @ tells you what
the t“ﬁ‘”g is abogt§ P SEEEE you Whe
@ Al other sentences should. be about that topie.

UN? Thats about 7%, Q‘é’;”f
(@ THATS IT2%¢

Prety muew! LETS Look AT AN EXAMPLE ¢

Q
PROCRASTINATION (OR PUTTING OFF UNTIL TOMORROW) cAN BE

EASILY OVERGOME BY NG A TASK PLEASANT ENOUGH SO WE

RI
ARE WILLING T0 6Tﬁ'RT.%PKSUPPOSE I HAVE TO WRITE A GED SELF
TERCNING WLPLNUPQ_,@IF T THINK OF THE WNOLE THING AT ONCE,

I Am Sust overwnELMED, THE Thsk 15 Too LARGE , I CANNOT BET
Ir OOME;?@HOVUEUER, IF L BREAR IT INTO BITS,IT DOESN'T WEIGH
Me powh, AND I KNOW T caN Do ONE SmALL TaSK. = S0, I ONLY PLAN
TO WORK ON EXPLAINING FRASTIONS, I CAN 00 THAT ONE THING.
@Thos I PROCEED ONE SMAWL RIT AT A TIME UNTIL IT IS AL OONE.

E{ -
B oo THIS PARAGRARN IS ABOOT S
ST Q@ PrOCRASTINATION |
D @ E.PQTIMC? CANS% @)
@ WrrTING

WHAT WouLh NAPPEN IF ® WAS THE FIgsT
SENTENCEZ (ANS. AFTER READING IT YoU WOULDN'T
i KNOW WNAT TNE PARAGRAPH WAS ABoUTS) THEN
WHAT IF WE STUCK IN A SENTENCE LIRE, "SAWs DOG Is &

Cocrer SPANTEL NAMED WAFFLE. ™ IT DOESN'T BELONG SINCE IT JS
NOT RELATED To THE Topre At ALY (THE "TOPIC" SENTENCE DOES NOT

HAVE T0 BE THE FIRST SENTENCE, BUT YOU SHOULDN'T HRVE TO GUESS WNAT THE
PARAGRAPH'S BOUT EITHER, ALL THE OTHER PREWIOUSLY DISCUSIED "SENTENCE’

RULES WOLLD RPRLY TO THE SENTENCES IN THE PARAGRARH ALSO.

THO SPELZEING
TO SPELLING me==>

9)



OPELLING ON THE GEOQ Mgy GE A LITTLE MORE DIFFICULT 70 PREPARE
FOR, SINCE, OBVIOUSLY, YOU CANNOT NEMCRIZE HOW TO SPELL EVERY
WORD IN THE ENGUISH LANGUAGE , AND THAT IS WHAT THEY HAVE TO
CHOOSE FROM,

o7 N} PERHAPS YOU COULD SCAN SOME SPEUING LISTS OF COMMONLY
< (A2 MISSPELLED WORDS (/1|0ST SECRETHRIES HAVE A_BOOKLET) oR
& ag THE LTRRARY QROBP@‘L‘/ HAS SEVERAL, F\LSO WHNEN YOO
ARE JUST "READING", WATCH FOR WORDS THAT Y0U COMMONLY
OON'T SRELL RIGHT,

(\@3,99@) NERE ARE A_FEW RULES TO STICR IN YOUR BRAING

1 "L geFore "E" ExcEPT AFTER “C' OR wHEN
SOUNDED A3 “A™ IN NEIGHIOR & WEIGH.
(RECEIVE, pigce)
=%

2. UsUALY DOLBLE LAST LETTER BEFORE ADOING
ENOINGS,

RUN , RUNNING; SWIM , SWIMMING.

Ir SPELLING IS NOT YOUR "THING'
QON'T SWEATY ReMEMRER, vou
ONW HAVE TO GET Y2 THE ANSWERS
RIGNT S0 YoU'LL JUST NAVE TO
Do A LITTIE BETTER IN SomMg OTHER
PART OF THE ENeGLISH,..

(NO PROBLEM L

WEeLL, THAT PRETTY MoucH WRAPS VP

THNE ENGLISH SECTION ¢

Fedi

0.)






Tye GED 15 DIVIOED INTO FIVE @ TESTS ¢ EnaLISN (WMICN
li o

YOU JUST QOUERED, OcIENCE, Socz Stuotes, READING, ANDO
MATIM.

/%2“% As You SAW BY TME TITLE PAGE THIS SECTION

L Jpam CoVERS SoczhL STUBIES, SCIENCE, AND RERDING.
" How CAN THAT BE YOU WONDER ... WELL, THE
ESSENTIAL ELEMENT OF AU THREE Is READING ¥

THERE ARE J0ME FACT QUESTIONS: HISTORY, SCIENCE, AND
QURRENT EVENTS, BUT MOsSTLY You READ ANQ GET QUESTIONED
ABOUT IT. AND ITs A GOO0 THING TOOX IT wouws BE A

LTTTILE DIFFICULT TO LEARN ABOUT EVERY SCIENCE & SOeIAL
STuptes Torzedl

THe TWO g\z TYPES OF QUESTIONS AROUT THE READING PASSAGES

ARE ¢ () WHAT DOES IT SAY AND (2) WHAT DOES IT INFER (1mecy)
(OR IN OTHER WORDS WHAT QONCLUSION CAN YQU DRAW FROM| IT,)

REER THOSE SIRATGNMT? IF TNE QUESTION ASKS YOU FOR AN

"INFERENCE" DON'T PICK AN ANSWER THAT STATES WORD FOR WORD
SOMETHING FROM THE PARAGRAPNS?

gz ) YOU MUST READ And THINK ... TRY AND UNDERSTAND
r,:y WHAT ITS SAYING. PRACTICE REAQING THINGS ANQ THEN
SEE IF YOU CAN SUMMARIZE THEM IN YOUR SWN WORDS.
Use THE NEWSPARER , READ DIFFERENT ARTICLES, ESPECTALY ONES
YOu'RE NOT INTERESTER TN RECAUSE THAT USUALY MAKES THEM
HARDER 76 UNDERSTANG ONLY BECAUSE YOUR MINO WANQERS o .

SCIENCE,SOCTALSTUDIES, | J@Q% E\/ ﬂ’/ HAS
/ ]ﬂ@%@:’ﬂﬂ pacysoed > E

READTNG PREPARATION * |
'S AT Z M ISy oekeo

THING
(DREAD ANYTHING

THAT'S IT? Pracizec REABING AND ABSORBING WHNAT
IT SAYS ... THERE ARE NOT ENOUGM FACT QUESTIONS To DESTROY
® YOLR [CORE, EVEN IF You MIJSED THEM ALL IfF You DO WELL ON
THE READING IN AL THREE SUBJECT AREAS,







7=

@Wm FRACTTONS
7. OH, YOU SIILY GOOSE THEY'RE NOT HARD—

Can You ROO¥ LO®OKGT Wh’af s 1+2=¢ Nou
KNOW Ir 15 3. Wew THEN, You cAy ROD 3§+ F. IT 15 §. Aw
¥ou DO TS ADD THE TOP NUMBERS TOBETHER ANO LERVE TNE
BotTom ONEs ALONE AS LONG AS THEY'RE THE SAME.

Ti s é- +'§ =7 Jlrl ) = %
IRy Some MORE= R : (Pi'\g TOP NUMBERS = 3
4% =23 s Top Numgers =
4.3 (443) Lz
IZTI1250 ANS S TOP NUMBERS = 12

~N

5
~W =7 Ans: (1-5) ToP NUMBERS = TF

a
Tt
F:S =2 ANSS (12=17) TOP Nuqea%=%

n
)

/g@,_é\%j Bf;@ji‘*‘e 00 NAW : ewe w(w»-zoops, WRONG W)
L -

(ONIARD " You JusT, MULTERLY TOR TEMES TOP AND BOTTOM TIMES GoTrom.
B LIRE THISS Z*7 =2 (2x4)T0P NUMRERS = & g

_ ANSS 8
(3%x7)BoTTOM NUMBERS =2

2

.S« =5 5

17 = (N aese

- (x3)= 3 s

i = e Aeee

£ 2¢? :

P ;@éfb’é < DN +5 S OH You'wL Like THAT 009 You AWAYS

Dur e ©

Q/&CJ >~ FoUOW THE SAME PATTERN (EVEN IF IT OOESN'T

HERE. ARE SOME npRE%’

L

S MARE SENSE ) oso YOU LEAVE THE FIRST NUMGER
Q ALONE, AND CHANGE THE ORDER OF THE SECOND
NUMBER, THEN JUST muuzey THE FRACTION.

L‘Q\VEN) 3 I'OER
P ---'_-L TH=be —--3 _?_:(sz):.@.
Moo SRUTE q ;tz."oo = ‘"i:i 4xn T g

(SAME) qu (TOP ON BOTTOM, BOTTOM ON TOP)

- NOW TRy YOUR MAND
AT WHAT YOU HAVE SO FAR o o ©

wp
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=), okny FoR THAT . .. BurT SONV|ETIMES wren Yoo're
- DV X7 ponIng (R SUBTRACTING) THE 80TTOM| NUMBERS AREN'T

R SAME ~ THEN WHAT DO YOU 002l ¢ Huw 1 HUN.ZZ THEN
(==, WHAT £

Waw, ACTURLLY, Y0U JUST CHANGE THEM §0 THEY ARE
5 wmH maste

“’ , POOF NS

00 W LIkE PULLING A RAGSIT

OUT OF A MAT 4%

WewL, UH. .. No, NoT ExACTLY
LIRE THAT - BY MULTIPLYING OR DIVIDING THE NUMBERS. o<

@’3 UeH! 1 WAS AFRAID IT WAS GOING TO BE WORK S Onzs |
(jj noT THRT BAD ... TARE A "2 AND A YN FOR EXAMPLE, (i”’i)

WHAT ¢AN You MUTIPY TImEes "2" To GET 4" 2 How AgouT \
"2'. .. 2x2=4. THERE, THE ONLY RERUY TOUGN PART TS OECTDING
WHAT NUMBER. TO USE TO MMUUTIRLY. IF YOU NAVE A FRACTION, *Z,AND
YOU WANT THE BOTTOM_NUMBER TO BE FOUR (4) AW YOU 0O I3
MULTIPLY BY “2% [HEN You ALSO HAVE TO MUUTLPLY THE ToP NUMBER
BY "2 OR THE FRACTION WON'T BE THE SAME NUMBER AS IT WAS.
- NEED TO CHANGE.

7 7 L+l me A coTTOM

//é //////// @Hmr: not ™ " aﬂiﬁg%Tﬁﬂzgem oo 10

% T » ST o
7 v 7 xz oy QN2 WOTE T L xE o %AHAo

L = 2

z = L= 2 2

2 EQUR g Now I CAN FINISN THE PROBLEM USING [
, .3 2 .1 _ 3

INSTERD OF 2. Z+4 = 3

. 1 ENS— Hmm, 8x2=¢ so

TRY ANOTNER ONE ¢ (/" G et “2r I molrzecy e borrom

56°"  NUMBER BY 2 I'L NHAVE A b, BUT I

ALSO MAVE TO MUUTIPLY THE TOP NUMBER BY 2,

l | y2 2 OECAUSE THAT'S THE LAW ¢
3T 3xz A ﬁDAH

=

\

£ko

2 ’ 2 41 2
50 T use EINSTEF@OF'§° ctce=



ol

OF\ Ler me FQPLKE SURE L aeor
% THE IDEﬁ_,/ so ©
[JIRECTIONS 2

?\\D CHR_NGE THE FIRST FRACTION SO THAT ITS
BOTTON| NUMBER IS THE SAME AS THE ROTTON
NUMBER IN THE SECOND FRACTION. wers wken

dom
over Up ‘qus re P 06’1””5

_ixd = 4y
st’@x*} = Jx % /2,+z,

L=y
CT o xH = wsozq’LZH

L,
&
LALWN?\@@“%A’ vf“’ ﬂ\‘s{"SL

Now suppose You CPLN T JUST I’YLUL_TIPL.‘/ TNE FIRST

YUP“ Tve goT o 00¢

BOTTOM_ NUMRER. BY SOMETHING THAT GLVES Y0U THE SAME NUMRBER A&S
THE OTHER BOTIOM NUMRER. TARE G Tt FOR EXRIMPLE ~ YOU CAN'T
MULTIPLY 9 BY SomMETHING TO 6T 1, RIGHT & Yean ¢ so AL You.

00 IS CHANGE BOTH goTTOM NumBERs BY MULTIPLYING €ACN ONE JIMES

THE OTHER W

e fdf = -th = L l""

Gy THAT MARES
BOTHN BoTTOoMm
NUMBERS THE

SAME 2 99

|
9*99

Ts THAT QWELL or Is THAT SWELL iy THEN You JUST
ADD ke ARWARYSE ) 4 9 o 1+9 . 20

99 99 - 99
2
0 ONE MORE ﬁ‘gﬁ 2+%
I L
319 4 27
"7%9 9)('7
27 14 J___ gl




’;%’2}% Qe Now I knvow ALL ABoUT FRACTIONS ... WE (L~

/ R A CLtosE= JusT ONE OR TWO MORE ITTY ~BITTY

2%(@ ¥ POINTS === <—NOT THRT KIND OF POINT? |

q@gv\ (1)) RepveING FRACTIONS (WHY ¥ ARE THEY OVERWETGNT?)

Ler's WORK WITH AN EXAMPLES :% THIS FRATTION NEEDS REOUCED,
HOW 00 L KNOW THATS - o0 BECARUSE I'm TAKING ABOUT REDUCING
FRACTIONS AND TMEREFORE IT IS LOGICAL TMAT IF L PICR AN EXAMPLE )
IT VUST NEED REDUCED, OR ‘MeDE SMAWER". .. (on, HOW INFORMATIVEN)
REMEMGER dp WHEN WE CHANGED THE BOTTOM) NUMBERS TO MAKE
THEM THE SAME AS THE OTNER BOTTOM NUMGERS WE MULTIPLIED;
00 TF WE WANTED TO MAKE THEN smeu- we Would DIVIDE. (Jost

[tke TF WE WERE OVERWEIGHT WE Would DIVIDE OURSEWES, WE
CERTAINU WOULDN'T mMUUTIRL To MARE MORE OF vs?)

7
0 ) /

_ S

BACK 7o our ExampLe: § WHAT NUmBER cAN T DIVIDE INTO S
goTH T™E ToP € Botrom ¢ (Rememser: You HAVE To ALWAYS

50 Tve SAME THING TO TME TP AND THE gorrom (TS ONY R

=
FAIRD How ABOUT 2 ?% s aia s A n
Tz = 2 O Y o K
L‘, Z 0 “7'7
«* W
y 33 33
33 = | Pg>< THo
=3 =2 Wax<zg 2
: 2ELWwS2Z
2 ¥2 :_./_ ‘_Zgé\ﬂﬂo—%w
N L
gy = | Qiﬂgﬁﬂﬁ(é
o = é%“i%é‘:&@,
. = ses -1 BEEE_EbY
%S 555 =9 Tyu 39525
O 6 ] 3 |¢/7 72
QGRS 4s1=2 Byp3Egat
o 513 GaBL 9,8
b<nBeg
18 ! éqi UP 2
=) G @
| ¢3+9 =



One mpre EENY TDERZ WHAT TO 00 WHEN THE ToP NUMGER

&) IS BI BGER ™A miE BOTTOM NUMEER,

o 00,
il o 0
EXPLMPLE - 5 CO& 5 on NO» WHAT Do I po

Qﬁl) WITH THAT $53

((%> s SEE HOW maNY TIMES THE B0TTOM NUMBER WILL GO
My STEP ONE: EVENLY INTO THE TOP NUMSER.

DuH? 2X52)0 OR 3%5=)5 OR HX§=20

- THE
W S
?Dgr omNe 13x5=150 \NINNER Twar s THE LaRessT AMOUNT
Ne  -=-""" WITMOUT GOING OVER o .. C(S0UNDS LIKRE A

GAME SHOW 96 0c THINK OF IT LIKE THAT AND MAYBE T+ wIw
BE MORE PLEASANT) SO IT GOES 3 WHOLE TIMES WITN /5 LEFT OVERS
Ra .

ST . _ i 2,
5 IS OR & 3x5=I5 I7-158=2 s0 3%
> el C < Loo ORAY S
@[@ (& . et v 9T = 4%
4 \‘6‘\[\0 6‘\\*\ 1, 16
) Pae s T |
0 0 1 _
> o%"ef\é& 2. F 7ﬁ$‘n5=f5/’1
23 } -5 2 RS
3 9 S 9rzz | =2%
. £
ail | ’ o =B
1T A
|
3. =z

WY,

A
! "ty .’5-35_ J Ay
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QAoD UP THE NUMRBERS ¢
87+55+ 171

@ CouNT HOW MANY NUMBERS
YOU'RE ﬂpOING up AND DIVIDE
THE ADDITION TOTAL BY THAT
NUMBRER <

RT +55 + 171
ep %@D &@ = 3 NUMBERD

874565 +11 = 213 213+3= 1

WHAT Ts THE AVERAGE OF =
@7, 1,115,119 T+ +5 +19 = 52
Ynumbers So divide
by 4 s2x4= 3

ANS: (3
@ 20,40, GO, 80, 00, 12D 20 +40+ G0 +80 H100 H20 =420
4206 =10
ANS: 710

@ 1237 ,1384,29,10 1237+1384 +29 H0=260
’ 2060 #4 = GLS

Q’ﬁ@ WHflT ABOUT FINDING THE NEXT TERM (or "NUIYLDER) IN A
SERIES. hook AT THE FIRST NUMBER ANO DEQIOE WHAT You
CoULDd DO To Ir TO GET THE SEROND NUMBER: TARE 1, 7,49, ..

WHAT cAN WE Do TO | 70 68T THE SECOND NUMgER, 7 ¢ WE couwn

ADD G. OrAY ... |16 =T THEN DO THE SAME TMING AGAIN TO THE
SECOND NUMGER € SEE IF IT GIVES YoU TME THIRD NUMBER. TtC =03
o =

oI o s ORAY JU
Py, UGH: Ir poesn'T EQUAL H9. CW SIS Bae

%3 UM, .. HOW ABROUT MULTIRLYING BY 7% I WT=, THEN KT =49
¢

: =p THE g
ey ¥ W THATS TTY Vouwe CrAcRED THE CODEY!
oA V;c;t‘)'v\é wgﬂa YOu DID IT ¢ NOORAMS WHOREE %

——.



n /6,36, . I2 ANST /+5 =6
bot ¢+5=il not 3¢

Whet's the feurtn term? that's not how. ..
CIXGTe hmm. .,

eX6 =3, ANAYL
36 X&= 21§
TAH OAH S

D 7,9,1,13,-..,
LU}Lai S 'H')C S_Ai}’) -Lcrma

2) 7+2.=9 9221, hey. .

I+2 13 okay 13+2=
\)‘\\ AND 2= /5"'92, i_

(notice they doen't went
%L Kﬁ\ the number a?%r 18 (whieh

You musT BE VERY sn EARY wovld be the Sthy term) but

on THE GED TEST BE the one after that,

= 50@:1’1@3 THEY' Reciﬁzmk\/ AND
THEY CON' 'r 3K You FOR THE FIRST ANsweR You'lL COME To,
_BUT THE 5 COND (Lrke #2 Agove) SO BE CAREFUL

- =
ruo REFY J) CAREFULWYI® Fri v vous

AND BE SURE
2 %u}s&s TNE GQUESTION.

éLNSwER AND meLRE SURE IT
@@"’W
Y} 1HATS THE

% waoNe ATTITUOE,
You'LL NAVE A GOOD

TIME, THEY'RE FUN AFTER
You GET ToO KNOW THEM|

IF YoU WANT T0 WRITE DOWN A DECIMAN AS A PERCENT Nou CAN

LE%RN THIS®
0-9% = .00, 172.01, 27.%.0% etc t0 97 =.09

10-997 = .10, 11Te=,11, 12%=.12, 207 =.20, eteto 99% = .99

s0 ONE DierT (R ONE NUMBERD) NUMBERS YOU JUST PUT POINT () 2ERS (0)
= POINT 2ERO ONE =.01 ANO Two DIerT (Two NUMBER)

IN FRONT OF , 1T =
, YOU JUST PUT POINT, THEN THE NUMBER, 287 = POINT 23 =.23.

NumB
EXPRESS THESE
A2 ) PERCENTS A3
oY) DECEMALS 3 .
. 5 .

) o L BB 5
j NR?" 2) 87 2) 08
N7 3) 42
: y)81% 4y .87



= W 6 HH Rﬁ’m 72‘0/1/ &

»QE tALL yez2
NO chose) ge

Well , st one eeny &R [dea. or two about mqule?ng and af’VTd?ng
dEClYYLaLSo

When a dectmal s Tn the fnside numéerjoé‘f move 1t

s’rr:h’ru T
9 P 17149 = 7)54*&9 =7}§£

-

no .5Lue,at P»ece of Qake

4

Okaj * WHEN £, DEczmMAL I3 IN THE |
OUTSIDE NUMGBER YOU NAVE TO MOVE I

<149 7.)499 4 rot correct . )99, o"‘—erckm a €

Eecouse then we to show You

neeg 40 move the moved

inside one too- decimal
which 1s always on the over,

ouvtside Tn a Whole nomber)

so we END up wITH 7)H90., = 7)3% ANSS 10

Cross check % mulJc:P[:j OrlﬁIQQL Qumécr d:unded 63 -7

70
X .7 < one decimal Tn moltfplfeation problem ~so one Tn

H90 = 49.0 =49 correct answer

[ ASTDE When mults 13“‘3 decSmals Th answer are tfola numéerj
n Go’ck humbers fjourc muv 'l:apjjmj- 301 X 7=

\30’ 3c)cumai$
X_ 47 2decimals Tn muurzeine OR DIvIoInG
zlog TS otal IF THERE ARE NOT ENOUGH
W ANSE 14147 NUMBERS TO MOVE THE DECIINALS,
UVIvL ADD 2EROS.



NOW YOU TRY SOMES

«1%
Q@% ™

CD 32)CH
@ .01)71

® 32)788

©

ANSE 2

@ =23

X €one

C)ec,tm 1

TGl <« one dJecime-
ANSSE 1G. |
- ® 230 e1 decm"ﬁ

22.«2 eci™m

4620

ma.LS .

5087 < 3 decimald

|0 « 17

OOL <—”.3—- declm L

-202.

EC‘

de

tf"‘OL

n:ed {QOACJ ze_rOS

202,

32/
-9.2,.02.
4321

Eda’ 2Zero
ANS S

0202

fotal



.

> $ Ay \1 0
\ ~ > 2 i i
/\:\\M{’// - G%gsucgﬂﬁgl 7EAH wWasn'T 117 FUN oW
A ;z‘: peff @ SUPPOSE YOU WERE GIVEN
3L 10 THE FRACTION 9% AND TOLD TO KEXPRESS IT
g/i) As A_DECIMAL, JUST REMEMBER THE LINE—> -
MEANS

DIVIOE (2). THE FRACTION MEANS 3 OIVIOED BY &,
© 7 °
S0 You JUST DIVIOES 3:g, oro— s 7 R% (or R% affer reducing)
&

see ;@5&8 __:32_,_‘_‘3_0 ™ add zeros o
S0 .37 RS A_PERCENT 15 37% TTHE REMAINDER GO  Keep Jhvidin
So THE ANSWER 15 J727% L6 J

Try THES ﬂwms AS PERCENTS

Fexe)
) EWeTe A
) 72, ) 2I1.00  s0=50%
o0
1, 25
2) 4 2) 4)7.“'_80-25=25%
) RO
| o)
3N % Xy
IG R
B e
h 8 -]Q=!Q7°

1(92/3 VS

W ( or vou COULD REER DIVIDING
N : AND GET 6.GET )
N%, SUPPOSE YOU WANT TO RNOW WHAT

3% OF SOME NUMRBER IS ~ LIRE, WHAT IS 37
OF &1, THIS I3 ersy! Wrer Is 37 EXPRESSER AS A DECIMAR
POINT 2ERO THREE —> .03, JusT MULIZELY S7 BY .03 AND You LI
HAVE 37 OF Im,

¥ %-73 —2decmals g\, 1.
I.LZ)!J «—2 dectm

SO IF You ARE AT A SALE AND SOMETHMING IS S7% OFF YoU CAN
FIGURE YOUR SAVINGS. JAY IT costs¥100.00. S$% .05
100,00 +—2 decimals

X e 2 dectm
2521  5.0000 (or §.00) 1C0.00 -5.00 = $935.00

J Your cosT rs%5.00

[ @/ Note: Ir THE QuEsTION SAYS “How muc 00 You sRVE" ANS ¥ 5.00;
BUT IF IT SAYS “WHAT IS YOUR QOST" ANS. $95.00 ~ ~ REMEMBER
THEY'RE ~SAVEAKY ]



OF course THEY COULD SAY WHAT PERCENT OF 19 15 TH% NUmBER
8. JUST DIVIDE THE SsfoZi~NUMBER INTO THE ERRSER NumeeR

(WHICN WILL GIVE YOU R_DEQIMAL , AND YOU KNOW HOw TO CHANGE
TMAT INTO A PERCENT) IVE GO
Al A R 25 T

— .06 = Gl —
79)8 =79 z’(‘)/% ANS S (g o7, & / — &
G - HoorAH ¥
2, .G R™;
i Exeress % g D ez cen
&. ENT. 2 G42/37°
. n oS
rwl
2) A SALE & 87 orr 2) 8% = .08 Lo.ggo:i?ﬁt{w“
—_—— . 2
) Your “ITEM COSTS 8 2:o.oo. aus. 8000 BOOD \F
) WHAT DO YOU SAVE $ — 3%l
B) WnaT I8 YOUR COST % ®save_go (804)
eosT = 10,00 ®
= »80 .20
ﬂ 9.20 C.O&Té
, 33 Eso/,so
- - )5t ) 150780,
3) :\LNSH%E;EMENT oF IS0 3) 1501 39.00 _s31

33% 7

JusT IN CASE YOU NEED THIS?S
70 ADD DECIMALS, JUST LINE UP
THE POINTS — FREE SAMPLE S
o+ .02 +.303 t 4.01=72

o .100
02 oR . 020
303 My 4303
+_‘_\._zgl‘_‘4 .)E%EP N33

', E —
N 433 Lti)% 0




NOW, WE HRVE R COMPLICHTED BUNCH 0f PRogLems SUT

WE CAN MARE THEM S.MPLE?% éw%a

THEY'RE RLL RURE,YOU ARE
CompPARING THINGS ; LIRE
TREE NEIGHT TO SNADOW,
ExpmaLe: A 10" TREE CASTS A §' SHAROW . WNAT SNADOW
I A 20" TREE chgTd

® - P
re § _SISHAQNL - 2 SHADOW e or0% o
10" TRER 207 TREE AT

To FIND WHAT THE 213 EQUAL TO, MUUTIRY @ TzmES @ AND
bvipe gy ®. SX20°100+ 10310 10" SNADOW .
You'll DO PLLL THE PROBLEMS THE Sf\;ma) JUST MARE SURE THE

UNKRNOWN NUMBER APPERRS IN TMAT SAME PLACE.

ANOTHER EXAMPLE & A $40 TrEm Now costs 35, How muer DOES &

%30 ITEM CcoSTNOW? 435 cosTnaw . _ 2 .COST_NOW
$ 40 ORIGINALCOST 980 ORIGINAL COST
35 xBO=2800+40= 10 470

AUNAYS PUT THE ITEM YoU HAVE BOTH PIECES OF INFORMATION FOR
ON THE LEFT (ARRANGING IT S0 THE INFORMATION YOU'RE LOOKING
FoR' IN THE OTHER SET IS ON TOP)

A )1 4 2
R D L/ 1F A CHR TRAVERS [) 4HOURS . ZHOURS
60500({\6 200 hQILES IN Y HOORS. ZoomIL‘cfs 3850 MILES
\r:l%&: How MANY HOURS WILL NX350 = 1400 +200 = 1
L S IT TPQeE TO GO 330 rrLILES) "_HOURS
ASSUMING THE S’i”lﬁ RATR
OF SPEED ¢
2) Lt 1rres 20 GALONS OF PRINT 2) 00 FEET . 2 EEET
FOR R_ 200 FOOT FENCE, HOW 20 GAULNS 35 GRLLONS
MANY FEET WILL 35 GALLONS COVERS 200%35= 7000 +20= 390
£80 FEET
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/\LZEBR@ng YES, GOOD ‘OLE ALBEBRA...
MusT I LEARN AQ.eeeneL%.?
Z L7 v s
o YU S50 ALREADY
__ GOOF Y ~
KNOW ITY91 0%

SURE YOU Do —
NO FIND “IT" THAT THING you NEEO, Ves, IT 15 THeERe!

ND WHAT NOES IT cost? IT costs #25. You EmpTY ouT YOUR

POCKET AND HAVE 8$20. HOW mucH rpRE MONEY DO You NEED To
1 You TuST SOLVED THE ALGEGRA

BoY IT2 48 You sy ? RIGHT 28
0+ X=25 OR 25-20=X. You EVEN RID TwWo PROBLEMS

PROBLEM| .
AT ONCE S You JusT PROBABL PON'T CALL 17 Auseeras
@ 20, HAT 25~-20= RMEUNT NEEDED 70 BUY IT (X)
/'] 0o IN Your 25-20=5  SEAMOUNT NEEDED T0 BuT IT (0,
et ﬂ!zrhnigg% ALsesrA NumBERS CAN BE MOVED FROM ONE
SIDE OF THE EQUAL SIGN TO THE OTHER, AS

THE SOWTION ¢ _

LONG AS YOU DO THE SAME THING TO 80N
SIDES: |=| 25+ 1= | +25 ¢ SEE IF WE ADD 25 ON ROTH SIDES §
IS5 STIWL EQUAL S S0 IF wE HAD THRT ALGEBRA_ PROBLEM ABOVE
20X =25 WE WOULD WANT THE X BY ITSELF 36 IT WOULD LOOK

LTRE AN ORDINARY PROBLEM *
@ 204%=25 — @ 2B +x*2§ (20 on BoTH sIDES
EAPLANATION! IF YoU OVERDRAW J Y OF EQUAL SIeN)
YOUR ONECRING ACET § ) () 4 = '
AND THEN DEFOSIT § | ¢4y O +X*=S5
YOUR BALANCE 15 @,  OR O
| WOW*

VilZe
Dﬁ?@ THESE $

X+10 =14 % °
e 16 Get f?,é ﬁse(f

® x+10=N
| K;oi,q XcHeek 4+10=14
ko = Nead 1o have IX

@ Id~-x% = 3 X ToLGH @ )q::.;z(}-3 Conit have wod

) +X
tkl‘-goixa-rx how 3e+ X 63 Hself

~H =‘31-x K CHEOK E

@ T 113=c?+x =X 19-11=3 oV

Q@ 7=x+\

4. G=%40 X Y=+l orV



THE ONLY OTHER THING TMEY Q0 IN ALGEBRA THAT COULD
THROW YOU FOR A LOOP _Q 1§ STICK LETTERS TOGETHER, XV,
WNICH JUST MEANS TO MuLTIPLY § THEY, DON'T USE THE
MULTIPLY gyMROL (X) BECAUSE IT LOOKS LIRE “X' WICN 1S
A LETTER THEY USE. S0 2x (WHEN X=3) MEANS 2TIMEZOR=6 .

IF You GET TME PROGLEM: WNAT DOES XYZ EQUAL WHMEN X =2,
Y=H4, £="7 TMEN TME ANSWER IS¢

2N x =
2x4=8 BxT1=8¢
2XN RT =96

TF YOU WANT TO BE'OFFICIAL AND DO THEALSEBRA' THEN

 WHEN THERE'S MULTIPLYING,You DIVIDE (AND VICE VERSA)

Y To GET THE X ALONE..,ONCE AGAIN 6N BOTN SIDES OF
THE EQUAL SIGN, :

2% =4 Ix = 4 (242=1) (H+2=2)

2. ) IX =%
22
IF You DoN'T know NOW To o AN ALGEBRA PROBLEM AND You ARE

GLVEN K CMOICE OF ANSWERS, JUST STICK THEM RACR IN THE
PROQLEM AND PICK THE ONE THAT WORKS,

loows X+8=17

ANSWERS &

® 3 ® 3+8=11 not 17

® 7 ® 1t8=15 not 17 y

©® 9 @ 9+8= 11 BIng % Wy
@ 2, = BING QANEW
: Drne QSAZ\A.QT

GED fut s ORE TNAN

THIN TS NOT ALL —HE MATH ON TNE ([ am)) S
&~ gy <o
ENOUEM TO Scort  MNIGH %




i

%W & OKP\\I YOU'VE GOT ITM
!\LQXA_J GO AND

N@%ﬁ% TARE THE TESTY
Do

N'T WAIT, DeN'T STEW,

w§~ DonN'T FRET — GO GO GO 02

ITS NOT THE END RBUT

" THE BEGINNING



